Giai bai 2 trang 34 sach giao khoa Toan lop 5

Bai 2: Viét s6 thap phan thich hop vao chd chim (theo miu).

3
3cm = 100m:....m
8
8mm = 1000m:...m
6g = lOOOkg: kg
Dap an

2mm = 10Oom =0,002 m

4
ag= 1000kg=0,004 kg

HQC TAP - LOP5 - TOAN LOP 5


https://doctailieu.com/giai-bai-2-trang-34-sgk-toan-lop-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

Giai bai 2 trang 34 sach giao khoa Toan lop 5

9
b) 9cm = 1001 20,090 m

3
3cm = 10Om: 0,03 m

8
smm= 1900 = 0008 m

6g = 100 kg = 0,006 kg

HQC TAP -LOP5 - TOAN LOP 5


https://doctailieu.com/giai-bai-2-trang-34-sgk-toan-lop-5
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

